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<Step3 >

e 2004 2005 (7~9 ) (1~3 )
. ]
2. ( 0.05 )
E V A B V4 pl D2 o | k] AcC 1 2 3
2004 7-9] 25.60 051] -0905 0012 1006 0.025 1227 1T 2304 23959 27326 25515
~0622 0013 0947 0139 -0074 1193| 2| 2309| 23988 27598 25215
2005 7-9.| 25.46 030 1104 -0013 0927 0035 0938 1| 2289| 26654 25843 23.883
0038 -0009 1125 -0279 0180 1001] 21 2324 28670 24253 23.457
2004 1-3| 7.21 053] -0037 0004 0959 0.036 1246 1| 2102 6.093 6663 8874
0801 0003 0802 0323 -0180 1155 2| 2064| 6965 5282 9382
2005 1-3| 721 053] -0191 -0011 0.995 0.040 1244 1| 2465| 5596 7376 8.659
0442 -0010 0897 0223 -0126 1190] 2| 2415| 6411 6328 8891
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NUOPT program( ) /ppendi

like = Objective(type="maximize")

eps[t,t>k] ~ Tmp[t] - (alpha[1] + beta[1]*t + ga[1] * MTmp[t,t<=n] + Sum(rho[i]*Tmp[t-i],i))
PTmp[1] == alpha[1] + beta[1]*(n+1) + ga[1]*MTmp[n+1] +Sum(rho[i]* Tmp|[n-i],i)

PTmp[2] == alpha[1] + beta[1]*(n+2) + ga[1]*MTmp[n+2] + Sum(rho[i]*
Tmp[n-i],i,i>=2) + rho[1]*PTmp[1]

PTmp[3] == alpha[1] + beta[1]*(n+3) + ga[1]*MTmp[n+3] + Sum(rho[i]*
Tmpl[n-i],1,i>=3) + rho[1]*PTmp[1] + rho[2]*PTmp]2]

Ex == (PTmp[1] + PTmp[2] + PTmp][3])/3

V == ((1 + rho[1] + rho[1]"2 + rho[2])*(sigma[1])*2 + (1 + rho[1])*
(sigma[1])"2 + (sigma[1])"2)/9

sigma[1l] >=0
like ~ -(n/2)*log(2*pi) - n*log(sigma[1]) - Sum((eps[t,t>k]"*2)/(2*sigma[1]*2),t)
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